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b) Let ag=1, a1=2, =3 and a,= a,.; +ap3+ans forn> 3 prove thata,< 3"v n e 7+ L1,L3

2| Define tautology. Determine whether the following compound statement is
or not. [(pvg) — r] =[(p— )/ (q— 1)
3| Define Compound Proposition and by constructing truth table show that (7]
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a) Define direct and indirect proof and prove that for all integers k and [if k and | are
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both odd them k+1 and klis odd by dircct proof.
b) Prove that™ If nis odd integer. then nt9 1s even mteger™ by indirect proof.
| 3 Check whether the followimg statement s a valid argument by Rules of mference
!\‘ 171 study. then Twill not fail i the examimation
If T don"t watch TV in the evenmg, 1T will study
I failed i the examiation
~ I must watched TV in the cvening
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7 a) Find the coefficient of a’b c*d* in the expansion of (a+2h-3¢+2d+5)" K
b) Find the coefficient of x'? in the expansion for x*(1-2x)" ‘
8 Obtain the recursive detinition of the sequence {a,} in each of the fallowing case |
a) ap,=6" b)a,=2-(-1)" ‘[3*4J
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b) Find the explicit form of the recursive expression a;=7 and ans=2an.+1
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